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South Valley University L _} \ Date: 10 Jan, 2016 .
Faculty of Veterinary Medicine Q\r—\ I K\\t é /L'\)\ @ Time allowed: 3 hours

Department of Histology

First Semester Final Examination.
Subject: Histology Students: First Year Course: Animal Histology Code: 112

Please answer the following questions:

First questions: Sketch diagrams for the followings: 15 marks

1. The molecular structure of the cell membrane.

2. Activated B-lymphocytes.

Second questions: Write short note and illustrate with diagram about: 20 marks

1. The fate of Lysosome.

2. Types of ossification.

3. Types of neuroglia in CNS.
4

. Simple and stratified epithelium with diagrams.

Third question: Tabulate with diagrams, the main histological differences
between: 15 marks

1. Types of glandular epithelium according to way of secretion.
Mast cell and basophile.

Fibrocartilage and elastic cartilage.

S

Types of muscles.

Examiners

1- Dr. Soha Soliman AN\
2- Dr. Mahmoud Mohamed Abdelhamid &1‘5})5
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Good luck
Prof. Dr. Ahmed Ibrahim




South Valley University J , Time allowed: 3 hours
Fac. of Veterinary Medicine &= /%J January 2016
Dept. of Anatomy and Embryology -

First year / First semester

Answer all the following questions and illustrate your answers with diagrams

as possible.

I- Fill in the spaces: (12 marks)
1. Topographic anatomy means ...................ocevevenennn..

2. According to the axes of movement, the elbow joint is

while the shoulder joint is

3. The synovial sheathis ............... and 1S eXaAmMPle iS... i smas oo smes vuk cosiiidasng
4. The striated muscular tissue includes ............... and ...i129RE0e 9 muscles.
5. In the fish, the male genital system consists of ................ andEL gL L.
6. The paired fins include ........................... 1ok ERUERS O R EEERES L - IR
7. The Hotfiy structureS/o FtHEBITUSHHEIdEUIEH AL v s BIB JIREE o5,
8. The functions-of the esophagus in bird§8ré/ 8 LRt 2l IFHGLWOGS o8
9. The blind sacs of the gizzard called .................. ANEESIR L EgTAI '
10. The single-air sacs in adult bird/dreQ2, {HEMESI HH3H0FBR0g 1818l 2il
11.Parts of left oviductar& #EI8AL, 15213 S {1 BaNgent IiW soivel
125 o oiian s amns kit ag open on the dorsolateral surface of urodeum, while
............... opens on dorsal midline of proctodeum.
I1- Write short notes on: (10 marks)

1. Classification of skeleton.
2. Fibrous joint.

3. Formation of synovial joint.

g
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ITI- What do you know about: (10 marks)

e
2
3.

Avian liver.
Nasal conchae in birds.

Kidney of birds.

IV- Give an account on: (10 marks)

jia
2
2

Testis of bird.
External features of the fish head.

Gas bladder and its connection with esophagus.

V- Fill in the spaces: (one mark for each)

1

© N o Uv A WD

The ratio between the supraspinous and infraspinous fossa is ........... in dog

AN, st o in sheep.

The distal sesamoidean ligament consists of .....................
The muscles which inserted in the distal phalanx are .....................
Muscles innervated by median nerve are ..............cooviiinn.n

‘The brachial artery. givesioff .t il fme fopna bt vt

Good Luck,

Staff members of Anatomy and Embryology department
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South Valley University E \ Jan. 2016
Qena Faculty of Veterinary Medicine d) Time: 2 hours
1st year English
I-Write a 250-word essay on the following topic: (20 marks)

- "Describe the first week of your university study"

II-Read the following passage and then answer the questions: (20 marks)

The study of metals began in the middle ages when alchemists searched for a
technique to convert "base metals." like lead to gold. They never succeeded in making
gold but at least by experimenting with the metals (in contrast to the ancient Greeks. who
only speculated abouf them) they made many discoveries. A/l but 20 of the over 100
elements identified to date are metals but only 7 of these are common in the earth's crust.
Iron the most widely used metal is rarely found in the free state (not combined with other
metals) and must be extracted from naturally occurring compounds (ores) such as
hematite magnetite and pyrite. The beautiful colors of rocks are due almost entirely to
these iron compounds. In fact iron pyrite is often called fool's gold because of the
similarity of its color to gold. Iron is very strongly magnetic and the fact that the earth is
a magnet itself tipped scientists off to the fact that iron is a major component of the
earth's core or center. Pure iron is a relatively soft silvery metal that is very active
chemically (that is. it combines with oxygen to corrode or form rust). It is usually mixed
with other elements or compounds to form alloys such as steel, stainless steel or cast iron,
which are more durable and rust resistant than pure iron. Aluminum is the most abundant
metal, but it was not used until a century ago because it is so active chemically and
difficult to extract. Like iron it is soft, but in contrast to iron and steel aluminum is very
light and more resistaht to corrosion. These qualities make it useful for airplanes, trains,
automobiles, rockets and house siding. In the 1940s magnesium emerged as an important
metal. Although it is less abundant in the earth, more chemically active and harder to
extract than aluminum. It is present in sea water and that means there is almost an endless
supply of it. In the space age, the extraordinary properties of titanium have made it the
new wonder metal. Lighter and stronger than steel, it is more resistant to corrosion and
able to withstand heat.

The Questions:

1- Why do we usually mix iron with other elements?

2- What is the new wonder metal? Why is it called so?

3- Turn the underlined adjectives into nouns.

4- Use the following adjectives to form five comparison sentences:

( big — expensive -jbad — easy ) ‘ '

5- Define the following medical terms:
(Acrophobia — Metabolism — Hepatitis — Cholesterol —
Hemoglobin — Protein — Amino acid — Digestive system)

Best Wishes
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South Valley University
Faculty of Veterinary Medicine .
Department of Biochemistry e “J:H ““::
1 year final exam M‘iﬁ‘*‘iﬁﬂ’ H’
Date: 12/1/2012 e

Time allowed: 3 hours

On biochemical bases, explain "briefly" each of the following (2 marks each):

1) Saponification and types of Soaps

2) How to prevent Rancidity?
3) Apolipoproteins
4) Importance of Lecithins

)

5) Comparison between Prostacyclins and Thromboxane A;

On biochemical bases, Discus (3 marks each):
1) Methods of proteins precipitation

2) Strong bonds in protein structure

3) Types of proteins according to the axial ratio
Write down the formulae of: (3 mark each):

1) Two acidic amino acids.

2) Two sulfur containing amino acids.

3) Two aromatic amino acids.

4) Glutathione.

Compare between: (5§ mark each):

()

1) Glycogen & starch.

2) Sucrose & Invert sugar.
Mention two of: (3 mark each):
1) Pentoses.

2) Deoxy sugars.

3) Epimers.

Good Luck

ol 25l 26 L 5o e ¥ oNE/A/AY 3010 Y e M e gl gL



sl cipin deals

bl bl LS

gl Sy

e Ls a3 Fooh i sy Al

§ g MfduﬁLwU;Mﬁ!ié clil oSy s -
s e Adpnile pSH— ¥

oy Jadd y deliad £ls-l ()

s ATy et il 60y o pal) sl S —
sl i lgaYl 2 ()

v e Ml sl o ()



sl ipin deals

s bl bl 45
Q'M il Y
O&Lﬁﬂ(;ﬂﬂ Yeod _,yh;l {_,JJYJ Eﬂ

- ._“)” d.lla.u‘g\ uc- ;_.L‘;J

£ P Ja) (4 pils Ao plié pliil JSar S -1
e ‘E‘J;u-l.ﬂ.l _)—f-if— Y
Lo ts tal dpad el degaaal ()

il Jarally delial £/3- (&)

s Y bl el Liluand b id g L,&J‘JMJJJ:‘_ r
el gl lga¥ b s ()



Uiy o5 sl bl Zls Aullad 41 45,01 CX P QETCES FRES
olisly a3l £alze Byl g9 aladdl  yio olodal delyy)l s

Yeoh/ N A YA = Yoy ol Ll U gl Jadll =) Ladl pud

; , e — v o S ) e o]

(a1 ¢ ) dameall Ao S Yy (Uak gh Lo peas) ABIA § jall plaf () bl g Annual) B jonl) plal (/) e o : J31 el
sl () 9¢ yalhll Buas)l (b) Eus wetl=b a,,:ir|s,,41|¢1..almdu.,mumsb»§—\

3 kil sl S e 0 opold] BLuly g phud) Aadasall jlag] piag — ¥

ol oe s A Ael 301 03,3 Anlass e e 30 pl Flay— Y|

lo Sllgitd Aigas Ladd (50,08 allall Aol yuty  JSI liaBY gy — £

89gamall Sl g wilrlaly 5550 Bagagll o )lgll e galud] pae o Aol szl Jhais— o

B ¥Eeon g ala Gl g sl oalll g 7V Jlp> S B yamg ¢ Ly Bir TOr Jls> oame ol ylau] o &y 15— 1

Led Loley daio B3L3| ¢ Lo wlidosall ) Ay goN1 olS it Lgmiatd oSl o Lygal1 5 psing —

...—-S!g.g.a.;,,.uﬁé,m@quv@,ﬂlwwwm1moi@wmyml—A

BRISH) pay Aoy 31 Sl gasm gl gl a5 pig — 4

LI Bylas o AlolS) Audlill Ggu by s GabiS — V4

(a9 1Y) Bousme b S ,S3) ¢ r_:'L‘iJIJI‘y_JIJ

(Ll sy gl sty el s e jLaed) B PRES PO JEP IS (B

wlupwg@ml,1@w|a..ms:.,.,img,amu..ml—v

g el Aggo¥1 im0 Apgllal) L)) e ! g 1 Sl — ¥

Hiams Ak (0 g padl e e Jaioall 3 ylas¥l 3l b= ¢

Lirgo T ladl il imie Logh sty 1 ¥l = 0

L 8 iasd] gl o ] — i To s ilaay 80,35 Loy ilgios V0 ngg i Vo0 ehaog gl a1 B 35 oy 5 13— ¥

(&2 M) por 1 o sl TGS o o o JUo g (1) 100 el
Sl 5 gl e bl — )

Ligms i) o yoll LaS3lg S — ¥ T Al wllll s e Jull Bolgy 51— ¥

ol Sas Lo ()

T e s HNp sl ) 1355000 guamo 18] e el Al ) B39 10— ¥ 1,0 = pblaball iakad Tyl 3l Lig o= A

¥ = 0 il Shan g4 o B ll paasy (8t ) Lpkone inl) Lo g o gl dgaSl) g ygnd) Bag 1 =
ity S J¥ BLasl s Aol 300 Aoty 0 pal ¢ G e Leioln Ao 3l Dpar U] A3l (RGN Yl Al Jag JWI Jgadl ()

Al 93lsll e pasdall Laa bl obsall | oylalf o ol @ilabist | 3 fgll o £l a,lgll Ll g lall
() e ¢ Y Ver P
S ¢ ¢ \ (=) w2 ¥
o A i ¥ A sl — e Jasll
e A £ () A ok — il S Jasdl _
Pt o ot o o sbo— ol B Janll
2 s 2 P o s = g Jasll
Y A [©) Y \e UV i P
2 A £ s A b 8] b Jand

Jgamdly (3) ¢ ()¢ (2) ¢ () paf ol = 4 2 gl

Lol Al D (uadgig egish b Jandl )g 0 ¥lp Bpuid] Alil o lal) o (Giull s = ¥

o0 hail) gy o oly Ll A I SN J gamally o g1 Al ol ol (3] A 03 Loale 5l ) ol gl AyS — ¥
v \Vee Jlgs GUBUy ¢ L Yo s S BLASLY ¢ A \Yor Jigs JgYI bLad)

glaills G sl el caphal e
b Al estia / 3




South Valley University
Faculty of vet. Medicine
Department of Biochemistry

Second term Biochemistry Exam.
May 2008

Time : Three hours

Try on all of the following presenting vour answer by chemical
formula when it is possible :

1- Define The Biochenstry Of: (3 marks for cach)

I- Transamination.

2- Glycosilation of hemoglobin.
3- Tumor Markers.

4- Rancidity of lipids.

5- Alkaptonurea.

11- Biochemical Conversion Of : (5 Marks for each)

6- CO2 and NH3 into Urea.

7- Glycerol and Fatty acids into Cephalins.
8- a-Ketoglutaric acid into Oxaloacetic acid.
Il1- Biochemical Fate of : (4 marks for each)
9- Indol.

10- Ribulose -5-Phosphate.

11- Ketone body acetoacetic acid.
12- Bilirubin.

13- Propionyl Co.

Good Luck
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B. What mean A for a radionuclide is 0.3 Sec'? (2.5 marks)

C. If a mass 510 gram is converted to el
of this radiation? (2.5 marks)
T e e Hiianly)

Second question

A. Identify as true or false of the following sentences:

- Y-rays are particulate radiations

2. The unit of . is (time)

3. Soft X-rays ha
range

4. The heavier and more highly charged particles have shorter
charged particles.

5. The longer the exposure, the higher the radiation dose

cctromagnetic radiation, what should be the energy

(15 marks)

ve the shorter wavelengths and closer to and overlapping the gamma-ray

anges than lighter and  lower

6. The damage produced by 1 Gy of x-radiation is equal to

that produced by | Gy of gamma
radiation, i

7. Changes in DNA structure by ionizing radiation are called Mutations.

8. Double-strand breaks are mostly caused by
radiation.

9. Translocation and deletion aberrations are lethal to Cell,

large doses, high-dose rates and high LET

10. a-particles will cause more chromosome aberrations than gamma rays.

L1, Undifferentiated cells are most sensitive to radiation.

12. The quasithreshold dose, is the dose that kills 63% of the total number of cells,
13. High LET radiations causing more cell deaths than low LET radiations.
14. Radioprotectors are agents that enhance the cell response to radiation.

I5. Hypoxic cells are very resistant to radiation.

B. A radiopharmaceutical has a biologic half-life of 10 hr in humans and a physical half-life
of 23hr. what is the effective half-life of radiopharmaceutical?

(Smarks)

Third question

A. Define (3 marks)
Specific ionization (S1), oxygen enhancement ratio (OER), Restitution

B. What is the different between: (5 marks)
I: Direct and Indirect actions of radiation?
2: Stochastic and Deterministic Effects?

C. Calculate the radiation exposure at 5 cm from a vial containing 20 mCj of "Y' Cs,
where I" for ""Cs is 3.26 R.cmmCi hr at 1 cm? (2 marks)

foﬁﬂﬂ.ﬂudo
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South Valley University
Faculty of Vet. Med.
Dept. of Anatomy

\ -
1A 4 - Tirne: 3 howrs
A e 2008

Anatomy Exam (First year)

e Please answer all given questions Hllustrating your answers with diagrams:
i
[+

[-Write short notes on the following:-
1-Spermatogenesis
2- Types of cleavage

3- Implantation

Ii- Mention the Anatomical differences of the following:-
- Kidney ol horse and ox

2- Testis of horse and ox

3- Glans penis of equines and carnivores

HH-%Write an account on:
1- Urinary bladder
2- Formation and fate of corpus Tuteum

3- Suspensory apparatus of the mammary eland
o

IV-What do you know about
I- Femur of sheep and dog
2- Ligaments of the stifle joint

3- Muscles on the medial aspect of the thigh and their nerve supply

Good Luck




